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Paper : ECO-HC-1016
{ Introductory Microeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :
1x10=10

oo #ETYRd Oed il (R it w=il)
(a) What is the problem of ‘choice’?
‘lew'q Al 59

(b) Distinguish between a firm and an
industry.

OB #foBie =T bl SrplsE Wiee «idfey
341 |

(c) Mention one feature of capitalism.

*jferaimd @Bl CaEy Y |

(d) State one feature of economic goods.

wetsfes ANAPTIRa @bl @REy SEd T4 |
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(e)

(9)

(h)

(i)

G)

(k)

U

(m)

(n)

(o)
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(2

What is cross demand?

fote oife 52

Write the demand function.

Bifewl ol fordl |

What are complementary goods?
“Afqe7s AT 52

Draw the demand curve of Giffen goods.

foceee AEPTRS STl w41 |

What is the shape of perfectly inelastic
supply curve?

o SREfeEIeRe @IINEIN Sighe 62
What is producers’ surplus?
AR 858 97

Define opportunity sets.

A AT @ i |

What is income consumption curve?
i Toreil @ (62

Mention the concept of market demand.

I SifEmE g[S 4|

Distinguish between stock and supply.
Tge wiF @A wee Al el 5

Define imperfect competition.

oyt eiferifarer ket i |
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(3 )

(p) What is derived demand?

g v feo

(q) State one character of labour market.

Y IS99 96 @B S o4l |

() What is meant by property rights?
FeeifaT w52 5 @i

2. Answer the following questions in short
(any five) : 2x5=10

O] EPTRY By Oed fual (R ceier +fiobt) -

(a) Distinguish between positive economics
and normative economics.

oA RIS wie Sfre wdTifes Sree
N fefg Fa1)

(b) What is economic problem?

RGeS

(c) Write any two features of basic
competitive model.

afers  dfedirerEe wifs & @ier o
iy ferdm |
(d) Why is the cross elasticity of demand

for substitute goods always positive and
negative for complementary goods?

st i fsgrieet 5 s Repss siiwalia
(IS N HF AREEE AN cFqe
AT =2
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(4 )

(e) If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of ¥60
per litre?

3y s T oif v ot ¢ 9 = =
o 3 @fs RiHE IR 919 40 5l @[S
<5t ~fEerma 40 FoM ST vifet =4, o08
af BR oNET T 60 TR T oA
ifew @i fee 2792
() Why do two indifference curves not
intersect each other?
qorE FEere @R R AReE @ TRE?
(g9 Why is the supply curve of labour
upward sloping?
A @ @3 R S =2

(h) Distinguish between fixed and variable
costs.

i OiF AfRaERe e A T

(i) Mention two government policies to
enhance competition in the market.

TEiTe Afeiet I TR ol 1ol il NS
Ty 4

(i) Why do input demand curves shift to
the left? b3
e oI @4l e AewiE FERiae =9
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3. Answer the following questions (any jfour) :

5x4=20

weq ANERE Bed il (R @i oot ¢

(@)

(b)

(c)

()

(e)
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What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
e e $9 7@ eI @ TR
g el [E I, Iy 79I

How does the profit motive drive the
market system? Discuss. 5

Foq SORNE @CWME JGE =T Sfnile
FTE? SEHAl 4 |

Explain the characteristics of a mixed
economy. 5

i wefAfes @RFEPRE [ 49 |

What is price mechanism? How does
price mechanism allocate resources?
1+4=5

v dfem 57 w9 dfFEER @emE e
fqeqd =7

What is budget line? How do changes
in income and prices affect the budget
line? Use diagrams. 1+2+2=5
s @9 52 o 9 799 HARTESE @ e
s @I g FE? ba TaRE Al
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() Show that a monopolist always operates
on the elastic part of the demand curve.
Why? 3+2=5
s @ GIEHA TR Gw vk @9E
o SIS e T | {2

(g) Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
I W I ST J99 AT H=54F o 91 |
AT T @R M W @G oy o= o
&1 FE?

(h) Explain the various factors determining
the demand for labour. S

=9 o fdied s R[fem Rz g
el

4. Answer the following questions (any four) :
10x4=40
oo AT 9ed it (R e siRe)

(a) What are the fundamental economic
problems of an economy? How can
various economic problems be explained
through the use of production possibility
curve? 4+6=10

Q9 TLfeq @WWWW%%?

fRfea Sftifoe Fpirmes S smrde!
49 RS e G i #4179
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(G %ie)

(b) How is efficiency of market linked with
producers’ and consumers’ surplus?
Explain. 10
T TFE IF (SIFH Tgeq TS TG
ol & TFE witR? I T4

(c) Explain the various factors determining
individual and market demand. 10

JfEere bl Wi @[ i fdeenz
TGt 4 |

(d) What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=10
dioes Ree 52 e o 15 mfer wzme
eifos ReeT qI=eIst gt <541

(e) Explain the process of consumer’s
optimum choice with the help of indif-
ference curve approach. 10

e @ R 2Ee ©er I omv
ARG U101 4 |

(f) Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-
run average cost curve. 8+2=10

ZEFEE T W @WE RFS R O
¥ @A SZFE T4 RPES e 99 @2

U-SIgiod @R lRPz i |
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( 8 )

(g) Explain the behaviour of a profit maxi-
mizing firm in the short-run. 10

ZFTIAN RS G FAS A AfeHa
o9 iyl 4t |

(h) Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10
GO P e F99 Ifegee! Sl
[ avoha geEm frges  Ge-Rad
CARRIE 5 it @72

(i) Describe the various applications of

elasticity of demand in economics. 10
wdiifos biftw Ffegeirom /s awl
3 4t |

() Explain how wages are determined in a
competitive labour market. 10

ACFETOET @ TGRS TGH  @FEE
s =7, g <54t |

* Kk Kk
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